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MANAGEMENT
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The following is the demand schedule :

Price Quantity demanded '

® (Units) ‘ _1' &

10 80 £ ¢

8 100 22 OV,

5 160 r ' F
What will be the value of arc elasticity of demand between prices 10 and 5 ?
(1) 0.50 (2) 0.20
(3) 1.00 4) 135

2.  The following is the total cost function of a firm :
TC=10+6Q-0.9 Q> +0.05 Q3
What will be the critical value of output when AC is the minimum ?
(1) 9 (2) 10
3 6 (4) None of the above

3. Match the items of List — I with the items of List — II and select the code of correct
matching :

List -1 List - IT
(i) Normal profit-at th’g output level where (a) Oligopoly market
MC:MR:AK:AF
(i) Normal profit at the output level when (b) Perfect competition market
MC =-M‘2) is less than (AC = AR)

(; (iii) Price and .eutput levels once determined (c) Monopoly market
tend to r%aitx stable even if there is

considerable change in cost of production
Codes : r
(@ (b (o

H @O G (i)
(2) (@) G @
3) Gy (@) @
4 ) @ 3G
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e : =9 ooT  ve (50) Sg-fashed I € | Heddh M9 e (2) 36§ | Wt o e €

1.

=

frefefe o s &
e (TUAn) i T e (3T)
10 80
8 100
5 160 »
10 3T 5 TodT & Se | 1 A9 A 1 T 8 2
(1) 0.50 (2) 0.20
(3) 1.00 4) 135
T FH o FEAfAfad FeT AR el &

TC=10+6Q - 0.9 Q% +0.05 Q?

SCIE ST Shifcish Jod T & ST ST AN g & ?

(1 9 (2) 10

(3) 6 (4) SUIF H T HE Tl

Tt — 1 B H&1 B G — 11 B 7R o 91 e Y 317 Tel e & $e o =9a &

o1 Vg © il |
(i) SURT TR W FERT o Sl MC = MR (a)  3ToUITH®R SIS
= AR = AC®l4 _ *
(if)  SETET T R HE T S (MC = (b) ot SRTERTAT A
MR) W &R (AC = AR) & &R I FH & |
(i) STAEA-CTHIT H FHTH FeTd 3T & qAE (¢)  THMGHR TR

TF a- o Y SR W B
gt Tl T F A

@ (b ()
1 O G (i)
2 Gi) G) )
3) G Gi) G
@ Gi) (@) (i)
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4.  Match the items of List — I with the items of List — IT and indicate the code of their correct
matching with regard to methods of measuring national income :
List - I List — II
(i)  When the entire national economy is considered (a) Expenditure method
as an aggregate of producing units
(i) When national economy is considered as (b) Net product method
combination of factor owners and users

(iii) When national economy is viewed as a (c) Factor income method

collection of spending units i
Codes : -
(@ (b (o)

() @ @@ (i)
(2) @) @ (D)
(3) (@ a1 @
4) @) @) @ ,
5.  Statement — I : Business environment for a firm is a multi-layered structure.
Statement — II : Types of business environment risk cover only natural risk and legal risk.
(1) Both the Statements I and II are correct.
(2) Both the Statements I and II are incorrect.
(3) Statement I is correct while Statement II is incorrect.
(4) Statement I is incorrect while Statement II is correct.

6.  Match the items of List — I with the items of List — IT and find the correct combination :
List -1 List — 11
(Perception Process) - (Elements)
(a)  Stimuli (i)  Grouping
(b) Organizing = _ '(ii) Stereotyping
(c) Interpreting f iii) Internal & External
(d) Reacting| (iv) Impression formation
Codes : 3
@ @ © @
(1) Gv) @) (@@ (i)
(2) @) @ @ (3Gv)
(3) Gy @) Gv) @
(4) (i) @Gv) (@) @)
7. Which of the following is not a theory of organization ?
(1) Balance theory by Herbert Simon
(2) Fusion process theory by Wight Bakke

(3) Role theory and group theory by Rensis Likert
(4) Kurt Lewin’s field theory
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4. TR 3T & WO FF fafeEt & g 7 g - 1% HaT B gE — 11 % A % 9 e it
3 TEl e & Fe i Iy

Tt -1 = - 11
(i) ST T AT SR H IARA  (a) AT Ay
TR & U T o ©q H G S8 |
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THAT ST STFATST T 7T AT ST
T
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®: )
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5. ®uAI: R wY % o e gHeRen uh Sg-w{E S el ¢ |
FHYFI : AT JAEROT ARGH | Felet WHias Sires iR ot Sifew eniiet g € |
C I
(1) FAIATN A T E | (2) HE SR SH A E |
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6. e — 10 ST B el — I Sl 7&1 b 1o e bl 3T Tt Hallsi 1 e e

-1 il !
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(a) SR iy e S

(b) Hufed HET < A 4G wieag BT
(c) 3T Ufque am{l i) AR 3T =T
(d) fcfshar ST (iv) sfa fomor

X

@ @ © @

(1) (v) @) (@@ (i)

(2 @) @ () (Gv)

(3) G (i) @Gv) @)

4 (i) @Gv) () @)
7. frefefea 9 ®F o1 e # g 7@ g 2

(1) T QqEE H1 Gqe i

(2) e o BT HASH g

(3) aw ferspe 1 et fagia ik age fagia

(4) FE AT H wios (G
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8.  The three different types of interdependence among groups was primarily suggested by

whom ?
(1) Likert (2) Kurt Lewin
(3) Thompson (4) Gordon Lippit

9. As per the Vroom’s theory of motivation, what is the term coined for the extent of
attraction of a result/outcome to the recipient of the award ?

(1) Expectancy (2) Instrumentality
(3) Valence (4) Force

10. Which of the following is the concept of organizational development which stresses
effective use of the existing methods used by employees ?

(1) Process consultation (2) Sensitivity training
(3) Job enrichment (4) Team building

11.  Which of the following is included in a functional job analysis ?
(1) the mathematical ability required to perform the task
(2) the extent to which reasoning and judgment are required to perform the task
(3) the extent to which specific instructions are necessary to perform the task
(4) all of the above

12. Match the items of List — I with the items of List —II.

List -1 . List - IT
(a) Job instruction (i) A_‘S}éstematic method for teaching job skills involving
training presenting questions or facts, allowing the person to

-

~ respond, and giving the learner immediate feedback on
t {the accuracy of his answers.

(b) Vestibule | (i) Listing of each job’s basic tasks, along with key points in
training’ 4 order to provide step-by-step training.

.-’I (c) Programm . ‘“.\ (i) Training employees on special off the job equipment, as

learning in air-plane pilot training, whereby training costs and
hazards can be reduced.
Codes : .
(@ (b (o)

(H @ G (i)
(2 O (@) (i)
3) G (@) @
4 @) G @
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8. TRl % o ST (TRAT o T STCTT-3ToTT Wb i M1t ©9 | foha Tgm 2
(1) eeHe 2) ®E ol
(3) omwTEd (4) e e

9. gH % WO FIEA & AR 3TaTS MIqehal & URUIH/SERA o Uid T o foka) &l /1 9
ERIRIEI

(1) wdrm (2) FitIH
(3) ®MR 4) s

10. fr=fefaa & @ S O e o o Tehea T € S WISt alieh % et TEHT 9 Sl Sl §
3R T8 HEERT ST I § 2

(1)  wfsear e (2) GO AreTeoT
(3) H FEEA 4) 3w fafeen

11. f=fefad o 9 fa forares @ fageror & snfher femar sian € 2
(1) & oA &q STiferd T arar
(2) HE F FoIET & feg aTufere qe 31X Mo @ e
(3) ®E % MR % fow savas afene sae o g

(4)  SueR g
12. e — [ % 7T 0 Gt — 1 T T1T o Trer GAferd &1
-1 i T -1

(a) ST UREOT (i) %ﬁﬁw%ﬁm%@%mﬁ%%ﬁrﬁmﬁwm
T TR AT, SRS BT ST I bt SFART ST T2
< 5 Teremel o SR o WEl 3Tl Terd B o e H dcehret
{7, weswmufEa s |

(b) ST HTRTETOT !ii) HEH-IL-HTH VITEI0T GeaT I & G fogail & qr-ary

J Yok STe % HoT T i GeErghd T |
- (© Wﬁ% . (iii) FHHETRET T TR HRIR (3H-FS-TTe) JTHOT T AT,
( \ 7T AFA F TTFAL N AT TR fop nfretor e e
R FH {1 e |
X
(@ (b (o)

H O G (i)
2) (@ () (i)
) ) (@) @
4 (@) G @
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13. In which one of the following performance appraisal method predetermind percentages of
ratees are placed in performance categories ?

(1) Forced distribution method (2) Paired comparison method
(3) Alternation ranking method 4) MBO

14. Out of the following, choose the non-traditional pay focus combination ?
(a) Encourage involvement
(b) Create order
(c) Highlight organizational needs
(d) Reward positive results
(e) Reinforce the hierarchy
(f) Direct behaviour

Codes :
() (a), (b), (¢) and (d) (2) (a), (b), (d) and (e)
(3) (a), (c) and (d) (4) (b), (e) and (f)

15.  Which of the following is a function of labour relations ?
(1) To provide constructive criticism of the management

(2) To increase the productivity of the workers through reducing the labour turnover
and frequent absenteeism

(3) To secure and improve living standards and economic status of workers
(4) All of the above

16. Match the items given in List — I with the items of List —II.
List - I List — IT
(a) Lien (i)  The borrower is provided with working capital finance against

-

. the security of movable property, generally inventories.

(b) Mortgage t (i) It is the transfer of a legal or equitable interest in a specific
1 immovable property for the payment of a debt.

(©) Hypofh&a_tion (i) It means right of the lender to retain property belonging to

%,

the borrower until he repays credit.

4
(d) Pledge ’ (iv) The borrower is required to transfer the physical possession

! of the property offered as a security to obtain credit.

Codes : .

(@ (b)) (¢ (@

(H Gv) @) () @

2 @) @ @ @Gv)

3) Gv) Gy (@) (i1

@ O @) (a1 ({v)
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13. fr=fafed o @ g FrfoRa ggid °§ e FHiar st gateia sfaerdar s SR
SfoT | T ST ¢ 2
(1) S foeRoT ugfa (2) IFHT o Ui
(3) Shedd T T (4) T©gstan

14. frfefea & @ Raruies g wgia 3§ 6 geeea o SR e € 2
(a) WicATed IHET AT
(b)  sh| fmT
(c) TSATcHS STl T SR
(d) HHRIE YRUTHT T JRHT FHAT
()  TSTIHH 0 e ST
(f) UIT HFdeX
EL\R':
(1) (@), (b), (c) 3 (d) (2) (), (b), (d) 3R (e)
3) (a), (c) ¥R (d) @) (b), (e) 3R ()

15. Tr=fafad & | &9 91 59 Gl & HE ¢ 2
(D Y9 Sl HRIcHSE AT HET |
(2) &/ 3N 3R IR-IR SR T ! (i | T T BRI Pl ST ST |
(3) HERT & SEF-TR 3T 37Tk fefd sl TRITa T 3R 30 gaR AT |

(4) Sog= o

16. & — I &t 7T 1 gt — I1 0l 781 % T e =it |
el - 1 - e - 11
(a) TTRUTMEGR (i) | SR Bl oc1 G SR W 3l i Wi & o
- BRI Gt ot vR e S e
(b)y dgwm - (i) FE R HT T o o e fafere et gEta | e
1 AT ARG B T SR FAE |
© YT A (i) Ew A 7 ¥ R SRR S SR ® @i # aw a
/ ay S TG T HAUHR & 9 T I8 IUR 1 PIIH el B |
( @ e ’ () oo B ol s e & o g e e e

“-II?('i°b ot T 3TALOT HIAT ATEaTTh ﬁﬂ% |

(@ (b () (@
(D Gv) () () (@)
(2) (@) @G @O @)
3 Gv) Gy (@) (i)
@ @O G @i (Gv)
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17.  Which one of the following values refers to the net difference between the realizable value
of all assets and the sum total of external liabilities ?

(1) Capitalized value (2) Going concern value
(3) Book value (4) Liquidating value

18. The coefficient of variation is a useful measure of risk when a financial manager is
comparing the projects which have ?

(1) Same standard deviations but different expected values.

(2) Different standard deviations but same expected values.

(3) Different standard deviations and different expected values.
(4) All of the above

19. A plastic manufacturing company issues 10% irredeemable preference shares. The face
value is X 100, but the issue price is ¥ 95. The cost of preference share is

(1) 9.5% 2) 10%
(3) 10.53% @)  19.5%

20. A project requires an outley of I 52,000, It is expected to generate cash inflow as

follows :

Year1 - 312,000

Year2 - 315,000

Year3 - 316,000

Year4 — ¥ 18,000

Year5 - I 9,000

The pay-back period of the project is :

(1) 4 years (2) 3 years and 5 months
(3) 3 years and 6 months (4) S years

21. Out of the following, identify the key constituents for relationship marketing of holistic
marketing dimensions :

(a) Senior management
(b) Environment

(c) Customers

(d) Employees

(e) Partners

(f)  Financial community
(g) Channels

Codes :
(1) (a), (b), (c) and (e) (2)  (¢), (d), (e) and (f)
(3) (), (e), (f) and (g) 4) (), (¢c), (d) and ()
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17. FfafEd 5 9 ®F 91 9od Qel ST o STERrT Jod 3R $f ael Jiacl & aiT & & &
fHaeT 3T =l < AT ® 2
(1) Sirepe ge=t (2) =] HIEE T
(3) TEHE oo (4) UREHNH 9o

18. To=RoT =1 TUTieh SEH AU &1 U STAR AT & 579 s ol Fagew 39 aRars1ei &t qor

(1) THTHH AE forae oifch f= Tenird Jod
(2) ™= A faae i ThaHH Td 963
(3) T A ferere 3T et s e

(4) Sog= ot

19. UF REH A Tl FEAEN 10 WAea e AEET TR IR ARl & | 3ihd 9o
% 100/- & Ak F gog T 95/- & | ST IR Bt T AT € 2

(1) 9.5% (2) 10%
(3)  10.53% 4)  19.5%

20. TH GRESH o foIT T 52,000/ I SATTHT & | SHeh (I Tehal Tellg ScaT i &l SHIT

g

g1 — T 12,000

g2 — T 15,000

ai3 — % 16,000

ag4 — T 18,000

g5 — 9,000

AR g st

(1) 4a9 (2) 399 3R 5 T
(3) 399 3R 6 HEH (4) s5@9

21. Frefetad & 9, T foqum ST % R qReRT 3 T ge w fatea wY
(a) AN TEEA
(b) Ui
() T
(d) FHER
(e) “:IT"ﬁﬂ'lT
(h o< g™ (F=e)
(9 A
E!;R':
(1) (@), (b), (c) &K (e) ) (0), (), (e) R (D
3) (@), (e), () 3 (g) @) (@), (c), (d) 3R (D
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22. Six levels of the product hierarchy are given below. Select the code of their correct
sequence.

(a) Product class
(b) Need family
(c) Item

(d) Product family
(e) Product type
(f) Product line

Codes :
() (d), (b), (), (a), (¢) and (f) (2) (a), (d), (b), (c), (f) and (e)
(3) (b), (d), (a), (D), (e) and (c) 4) (b), (d), (D, (a), (¢) and (c)

23. Match the items of List — I with the items of List — II and choose the correct codes :

List -1 List — II
- "\., ‘
(a) Point-of- (i)  Attribute or benefit asso iationj that are not{necessarily unique

purchase to the brand but may i fact be shared with other brands.

(b) Point- of (ii) The location where/a purchase i§ made, typically thought of in

parity terms of a retail setting.
(c) Points-of- (iii) Attributes or benefits that cohsumers strongly associate with a
difference brand, positively evaluate, a belig\{e they could not find to
the same e)gteﬂt with a competitive brand.
Codes : 7
| 9 - -
@ @ (o)

(H G (@) @
(2) @G) @ (i)
3 O G (i)
4 (@) G @

24. Which one of the following is “the ability to perform the promised service dependably and
accurately determinant of service quality” ?

(I) Assurance (2) Empathy
(3) Reliability (4) Responsiveness

25. When companies work with each other online and offline to promote each other, they are

creating
(1) Contextual advertisements (2) Alliance and affiliate programmes
(3) Content sponsorships (4) Search related advertisements
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22. SR WUF % BT TR AR KT T E | 396 Tl 569 & F H 99T HW
(a) AT
(b) STEIIHAT URAR
© ¥
(d) IR IRAR
() IR U
(f) oS e
T
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23, T 1 g 1w e g S 98 5

el - 1 el - 11 g1, F
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- m

(@ () (o
(H @G (@) @
(2) Gy @ (i)
3 O G (i)
4 Gi) ) @

24, ARG B ¥ fFEH o oTE & AfdaEar o 9T, a1aT i §E WA Hi avaeHE R 9 €
¥ fomfed e o SHar 87 2

(1) e (2) TR
(3) TovemHEar (4)  FHfRATeTar
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(1) Wi fagmm (2) Wess 3R THg HEHH
(3) %] WA (4) S gaHr fasm
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26. Assertion (A) : Operation research is the application of the method of science to decision
making in management of men, money, machines and materials.

Reason (R) : Operations research is the prediction and comparison of value, effectiveness
and cost of a set of proposed alternative courses of action involving man, machine
and system”.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(4) (A) is correct, but (R) is incorrect.

27. Identify the correct statements from the following with regard to operation research :
(1)  Itis based on quantitative techniques and mathematical models.
(ii)) Operation research is another name of optimization.
(iii) It looks at the problem with a holistic approach.
Codes :
(I) (1) and (ii) are correct statements (2) (ii) and (iii) are correct statements
(3) (i) and (iii) are correct statements (4) (i), (ii) and (iii) are correct statements

28. Which of the following are true statements regarding statistical quality control ?
(i) the measure of the performance of an acceptance sampling plan is the OC curve.
(i)  Statistical process control is one of the tools of TQM.
(iii) Multiple sampling permits more than two samples to reach a decision regarding the
quality of the lot.
(iv) The X — chart and R — chart are constructed to resolve assignable variations in a

process.
Code :

(1) (@), (d), (iii) and (iv) (2) (i), (iil) and (iv)
(3) (), (iii) and (iv) 4) () and (iv)

29. Statement-1: The'moving averages method and the exponential smoothing method of

demand forecasting for operations are related.

Statement — II : Economic order quantity (EOQ) is based on the trade off between the
carrying and order costs to decide optimal order quantity.

(1) Both the statements are correct.

(2) Both the statements are incorrect.

(3) Statement I is correct while statement II is incorrect.

(4) Statement I is incorrect while statement II is correct.

30. If the total allowances (personal time, fatigue and unavoidable minor delay) are agreed
upon as 16% and if the normal time of an element is 0.210 minutes, what is the standard
time for the good industirla engineer ?

(1) 0.370 minutes (2) 0.336 minutes
(3) 0.250 minutes (4) 0.150 minutes
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26.

27.

28.

29.

30.

AfUHe (A) :  TFaTcH SFE=I Ao, T, B9l SR QI o ey § Mo oF &g faee &
TR T A T |

%HRUT (R) : foraTnes STUY I % TRATOd ohfeddh tRishl % (Rl WHE % Hed
TSR 3R TS i Wiesavlt 3k o & e =afer, Jeii 3R Jomedt
IMEAE |

&

(1) (A) 3T (R) ST W&l & |

(2) (A) 3 (R) 3T @&t & @27 (R), (A) Tl T& AT |

(3) (A) 3R (R) IAT T €, T (R), (A) hl Tl AR &l ¢ |

4) (A)TEE RGR) T E |

TohaTereh SFEEM % U3y § fefeiad § ¥ W&t %2 1 9a

(i)  TE TONCHE T ST T o HiSeAl U SN & & |

(i)  STIHCTTHT T TERT A HaTcHs SEEH € |

(i) T& TEES % AeHToT 1 THY SUTH |

C T4

(1) (i) R (i) T FAE | (2) (i) 3R (iii) TP E |
(3) (i) 3R (iii) T FETE | @) (i), (i) 3 (iii) T FAE |

Tifegent TUTErT FEET & Hey | fEfated °§ | 9 9 wUT W6l § 2

() i dfqeas g § HrEFeIET $ 719 OC o € |

(i) iRt UfshaT F=0T TQM ol U 3SR & |

(i) & TUTE % G H (U W T & 9g-Ufaae & ¥ A T IS <o § |
(iv) Tt TifshaT © 74T =R ol Gorel &g Ta-a1E 3R STR-9E ST 51 € |

T

() (@), (i), (iii) iy (iv) (2) (i), (iii) 3T (iv)

(3) (@), (iii) 3 (iv) @) (i) ¥ ()

HAT-1: W@Tw@ﬂﬁﬁﬁﬁwaﬁrw&wwmwﬁww
T Fatad ¢ |

HoT - I : 3ol T TET o HUR0T 8 e AR A6 (E0Q) AW 3T R AN
% STIHE U ST € |

(1) T FATEE |

(2) T A oA € |

(3) FHF — [ W & STafh Ho — [ Ter & |

(4) T — 1 7T & STtk e — [[ WEl ¢ |

IS et AT (AR T, FFEE 3R STANETE T fofeid) Hl 16% T fora ST e o a
H G T 0.210 e 9 forar St et o siwnfe etiites o W Iua
g 2

(1) 0370 e (2) 0336 T

(3) 0.250 e (4) 0.150 e
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31. Match the items of List-I with the items of List-II and indicate the code of correct
matching with regard to fundamentals of probability.

List -1 List - II
(a) P(A) +PB) (i)  P(A or B) when events are not mutually exclusive
(b) P(A) +PB)-P(AB) (ii) P(AB) when events are independent
(c) P(A) xP(B) (iii) P(AB) when one event is independent while the other
is dependent
(d) P(A) xP(B/A) (iv) P(A or B) when events are mutually exclusive,

exhaustive and equally likely.
Codes :
(@ (b (© (@
H @O G 3ai) (@Gv)
() Gv) (@) (@) ()
(3) @) (@) @Gv) (1)
@ Gv) () (@G (1)

32. When size of a sample is 25, standard deviaiton of the population is not known and a
researcher wants to test the significance of the difference between two sample groups
performance, which one of the following hypothesis testing tests is appropriate ?

(1) Chi-square test (2) F-test
(3) Z-test (4) t-test

33. The standard deviation of the binomial distribution is
() np (2) npq
(3) /np 4) +/npg

34. The two regression lines obtained in a correlation analysis of 60 observations are :
Sx=6y+24 (xony)
1000y = 768x — 3708 (y on x)
What is the value of coefficient of correlation between variables x and y ?

(1) 0.92 (2) 0.96
(3) 090 4) 046
35. Use of computer mode for a special purpose is classified as :
(1) Computer interface (2) Computer application
(3) Control application (4) Peripheral application

36. The strategy making hierarchy consisting of corporate strategy — line of business strategy
— functional area support strategy — operational level strategy was propounded by whom
of the following ?

(1) George Albert Smith (2) C. Roland Christensen
(3) Edmund P. Learned (4) Thompson and Strickland

37. The enduring statements of purpose that distinguish one business from other similar firms
are commonly called as

(1) Vision statement (2) Objective statement
(3) Strategy (4) Mission statement
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31.

32,

33.

34.

3s.

36.

37.

et — 1 <l TR 1 Gl — 11 i T81 o 1 GAfeAd Y 3R FRI & 0o el o Gl H Fel Fe
EACLIDE

=t - 1 T - 10
(@ P(A) +P(B) (i) P(A 90 B) 5 50 X 37 el & |
(b) P(A)+P(B)-P(AB) (ii) P(AB) e TZAME @i & |
() P(A) xP(B) (iii) P(AB) ST Ush 5T Wi & 3K gl ferd & |
(d) P(A) x P(B/A) (iv) ;(A 1 B) 59 HeA WER 3=, forga 31 sReR gH=
|

Eo

@ (M () (@
(H @ @Gy @G (@1v)
(2) (v) @) @ (31D
(3) (i) i) (Gv) (@)
4)  (v) (@ (@) (@)

TS Uk UTTRST S SR 25 €, AT % HFSh [Oae & o) § Hofd Fél § 31X Ueh Ineehdr a1
TS FHET ome o e 3T=R % He<d bl WIeT0T Yl &, af Fefead & Hidl IRehedT

ST TR e € 2

(1) HTE-TTT TRIET0T (2) F-odeor
O RVA (4)  t-dEor
fgeiaTeh st 1 A foraer €

(1) np (2) npq

3) ~np 4 npq

60 TeIUT o WeHaY fageiouT ¥ U &1 THTSE0T 3@ fFtarad 8 ;
5x =6y + 24 (x TT BT y Il W)

1000 y = 768 x — 3708 (y T T x T )

x 3R y =R & ara Teway ToTeh 6 9o 1 8 ?

(1) 0.92 (2) 0.96

(3) 090 4) 046

T T UET & feTT ST T SHEge Rt iRt e §

(1) FT T (2) FH THAIRIH
(3) el TR (4) RS T

O FETOT e S RS 0HITG-aATe- Tt (et T0THI — ShTeicash &1 FeradT 0T
— YA T TG I €, Ffarad 3§ faeh gRT ofauiiea fwar 7 o1 2

(1) it ereee faqg (2) 9. Teivs e

(3) TUeHT . &S (4) e U WREeE

T TAISH % I FUE S R U foS @l I 3T 99H BT ¥ 9% Y §, 39 aR W
FEA & |

(1) foom o= (2) TS F&H

(3) O (4) a9 Fom
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38. Network techniques like PERT and CPM are the examples of :
(1) Strategy (2) Programmes
(3) Policies (4) Objectives

39. Match the items given in List — I with the items of List —II :
List -1 List - IT
(a) Competitive advantage (i)  Creating an effective organizational

structure
(b) Strategy formulation (il) Reviewing current strategies o9
(c) Strategy implementation (iii) Comparing to rival firms £ « _
(d) Strategy evaluation (iv) Determining internal strengths and " / o/
weaknesses r F

Codes :

(@ (b () @

(H G Gv) (@) (i)

2 O @) @) (3{v)

(3) @i Gv) (@) (i)

@ Gv) ) (@ (i) .

40. The ‘Industrial Organization’ (I/O) approach to competitive advantage by Porter
advocates which of the following ?

(1) Industry in which a firm chooses to compete has a weaker influence on firm’s
performance.

(2) External factors of industry are more important than internal factors in a firm.

(3) The internal functional decisions managers make in marketing, finance and like
have a stronger influence on firm’s performance than industry in which a firm
choose to compete.

(4) Analyzing external forces and industry variables cannot act as a basis of getting and
keeping competitive advantage.

41. Match the items of List — I with List — II.

List -1 List — 11
k) Forwardq Lntegration (i) Diversify in other areas
f (b) Backwarc:’tntégration (ii)  Current product serve as inputs
(c) Conglom : ation (iii) Combination of two or more businesses
(d) Merger (iv) Production of raw material

Codes : .

(@ (b)) (© (@
() (@Gv) @) (@ (i)
(2 @) @G (Gv) (i)
(3) (Gv) () (1) (iiD)
4) (@) (@Gv) ([ (i)
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38.

39.

40.

41.

Jeeeh deIeh F4T PERT 3 CPM & I[EITE |

(1) Tomifa (2) AT

(3) e 4) e

gt — I &l W31 B G — [1 6 H&T & 9 Gried 6
i | = - 11

(a) ViaEmEicAE o (i) sk U9TE HSHICHes Sl ohT (AHT0T SheT

(b) YOI T (ii) oI O st T SheT

(c) oM HETEET  (iii) WTTeET H Sl JorT ST "

(d) IO o (iv) 3TN STt 3T AR 1 HERT AT _f '

ok
(@ M © @@

(h @Gy @Gv) @@ (i)

(2 (@ @) @G) (@[Qv)

(3) @) Gv) @) (i)

@ v G O G o

U T Afaeeieqs® o % Wi i 9T (3Mg/e) gfesin Fefatad § @ fhaent

THTAT HAT & 2

(1) ?ﬂ%ﬁﬁwmmwmimwﬁ%ﬁmwwﬁrmm
|

(2) Tl o o aicfier R I G | ST % ST B Fel A Tewd ol B & |

(3) Ve gRT fquvH, ford 3T 311 T R W olT ST el S1ide ey i & wH &
HEHEET W, T frd e fes wH afawl s ude St €, TR wel s
Teg T BT T |

(4) =TT Aehal 3T AR T 1 [aveiuoT Hfaericnes o U i 9 oy & fEfq s e
TG & YR & T H HE T H Gh1 ¢ |

Tt — 1 B A& B G — 11 o Trer Gaferd &

et -1 Tt - 10
(1) TR () o et fafafieor

(b)) T N (i) SHE SATE SR % ' | I AT §

(c) TR (i) 3T A7 AF T H FH
(d faem | (iv) e AT H SR

(@ (b (© (@
() @dv) Gi) @ G
(2) @) @Gy (@v) (i)
(3) (v G @) (i)
4 () Gv) @) (i)
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42. Assertion (A) : The rural people who work in the rural handicraft industry are mainly

women and those from the weaker sections of the society.

Reason (R) : The main objective of Khadi and village industries commission (KVIC) is to
promote women and weaker section of the society.

Codes :

(I) (A) is correct but (R) is not correct.

(2) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are incorrect.

43. The major cause of industrial sickness, as identified by ‘Tiwari Committee’ in it’s report
submitted in 1984, was .
(1) Deficiencies in management (2) Infrastructural factors
(3) Labour trouble (4) Technical factors

44. The income tax act which was amended in 1977 by addition of section 72 A, provided
grant of tax benefit to healthy units for which of the following reasons ?
(1) Taking over of other healthy units for making economy stronger.
(2) Keeping themselves healthy during initial stages of their establishment.
(3) Providing loans and other financial assistance to sick units in industry.
(4) Taking over of sick units by amalgamation with a view of reviving them.

45. Match the items of List — I with those of List — II.
List -1 List - IT
(Entrepreneurship Theory) . (Attributes)

(a) Social change (i),f The introduction of a new product which

| F .
( consumers are not yet familiar.

(b) Status withdrawal ..« (ii)) Individuals with high need achievement will not

theory be motivated by monetary incentives but that

. monetary rewards will constitute a symbol of

{ achievement for them.

(c) Achievement theory (iii) Driving entrepreneurial energies are generated by
‘4 the adoption of exogenously supplied religious

b, beliefs.
() Innovatiorf theory (iv) A class which lost its previous prestige or a
, minority group tends to show aggressive

entrepreneurial drive.
Codes :

@ (b © @

(O @G @ @@ @Gv)

(2) @) Gv) @ @

3 O @G @>) (@Gv)

4 @Gv) @) (@) @
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42. AfUHET (A) : THIOT AT ST ATHIOT AT SE H HIE A € el et g § i 3

TS & HHSIR defehl ¥ Hag TEdl ¢ |

a® (R) : WET SR U ST A (F o 37 9 B q=T 399 Afearsd 3R GANT &
ISR ATl ! TATEd BT & |

EE

(1) (A) T, AT (R) T & |

(2) (A) 3T (R) SHT TEl & 3R (R), (A) T Tel WL & |

(3) (A) 3R (R) 3HT W& €, AlHA (R), (A) T TET TR e ¢ |

(4) (A) 3R (R) I TAT & |

43. foerdt WAt R 1984 § TR RO § SHifTeh 0T o THE FRUT 6 TegdH Heterad ° 9§
FEAAE?

(1) veee o 4t (2) IAETAHE FD
(3) HSIgY Frwii (4) T HRE

44, TIHT I, SHH 9T 72 A SEST 1977 | WY A T o, § HAetered 5 9 e
HROT T T TSIl ol o AT S T Were= fepan 7 2

(1) 3TITaRET 1 T 9 & (o0 37 Ty Tohreal o STenrev |

(2) IR TAYAT % YHITA a0 § T T AT I TG T |

(3) TN S | 707 THIEAT 1 SROT TS 31 {aiid Weral Ue & |

(4) TTT THAT H THHC ITH! TS HE 5 579 ° STH SAR0T HT |

45. A — 1 6l 9T T G — 11 3 1 GRlAd HY

TR -1 Vi S omE -
(FEmgte frgrr) (Fersrerari)
(a) WEWHEEAE. | (D) 7 SONE I Y AT o SR a7t aRfed T E |
(b) ﬁmfaa%m’mp? (i) = el ITATH oTet e AT HiedTe & U
‘. { TET B e e Hifgeh R b feTT STcATed
| pricaccuill
(c) Ut feg (i) VT e VTR e TR i et %
/ P 3P o ¥ U1 Bl § |
L@ qsrqaﬁqﬁ:%mi (iv) T o1 S 3791 98 O @ {3 91 U STeudeTs
| g 3k ST9IT Mg it & |

(@ () (© (@
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46. Statement —I: Corporate values seen to ensue a consistency of conduct across the entire
organisation.
Statement — II : Business ethics can provide the general guidelines within which
management can operate.

Codes :
(1) Iand II both are incorrect (2) Iand II both are correct
(3) Iis correct II is incorrect (4) Iisincorrect II is correct

47. Which one of the following denotes six characteristics of ethical code of conduct for
manager ?

(1) Integrity, Impartiality, Responsiveness to public interest, Economic, Honesty,
Transparency.

(2) Integrity, Impartiality, Responsiveness to public interest, Accountability, Honesty,
Transperancy.

(3) Integrity, Impartiality, Responsiveness to public interest, Civil society,
Accountability, Transparency.

(4) Integrity, Impartiality, Responsiveness to public interest, Accountability, Fairness,
Transparency.

48. Three levels of corporate social responsibility of business are denoted by which one of the
following ?

(1) natural environment, market economy, voluntary action

(2) ethical values, work culture, participation

(3) market force, mandated action, voluntary actions

(4) healthy competition, good corporate business, voluntary action

49. Who has defined following concept of corporate governance ?

“Corporate governance is defined as holding the balance between economic and social
goals and between individual common goals. The governance framework is there to
encourage the efficient use of resources and equally to require accountability for the
stewardship of those resources”.

(1) K. Keasay (2) Cadbury committee
(3) J.J. Irani Committee (4) Ronald R. Sims

50. Which among the following is not associated with social responsibility of business
enterprise ?

(1) Caux Round Table

(2) Transparency International

(3) Global reporting initiative

(4) Organization for economic cooperation and development
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46. HUT-1: HRUNS AT H YAE R G & o9 TR § TR ol G HEAT &Il & |
FHUA - [ : FoaE Faelt SR =i G feen F8er 3t & e 38-f1g s = ¢ |

&
(1) T1RISH TAd & | (2) 1SR T |
(3) 1WaEARMN T E | 4) ITagARMT T |

47. T T [T §RT Ve & AqRe TaR AledT B @ foeisand samt T & 2
(1) Ueh-eaar, fometan, < feq o STReifacyurT, frd-=a, SHFeRT, TRerermr
(2)  TshiadT, foTeTT, ok fed W STREITHeaUiaT, STarsRel, THMERY, IR
(3) TSR, FeTET, Tk fed W SRt fafaeT TTeel, SereRel, TREREr
(4) TSHHEAT, O, T fod § STRIMGcaqUIdT, STaTaae!, =EEaT, TR

48. =HIEE % i G STREae & aF TR 1 3 9 fhas g s g 2
(1)  TITEHideh TATERYT, SR STHew, Wada! Hr
(2) A Tod, S FHA B GBI, T
(3) ISR T, AR HH, et He
(4) T Ui, 3=t e e, wEadt S

49. HRURE ToH o 7 Tagia ol e TR foham € 2

“HTURE o9 & T § T8 AT ST € fob 98 rfedee 3R Qmitsieh el qer safeid
T e § ol ST WA & | GETEAT & 3% WK § TR Bl Wichiied e T STy
THIAN T F 37 GAeAT 6 folT STewae Sareee! & Fgcd FH & [old Ta-g 1 Feed & 17

(1) = %" (2) el EHEfd
(3) SIS W QA (4) TTes AR o=
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